
Instruction Manual

Components
 • Straight Bar / 38x38x900mm (x3)

 • Joint Assembly  (x2)
     Upper Link Plate w/Leg Bracket
     Lower Link Plate w/Nuts
     Bolt (S) w/Washer (M10 x 25mm) x 2

 • Steel Leg w/Bolt, Washer (38.1x706mm ) (x4)
     Bolt (S) w/Washer (M10 x 25mm) x 2
     Spacer x 2

 • PC-08 Pipe Clamp  (x4)

 • Hexagonal Wrench  (x1)

PEARL DRUM RACK SYSTEM
DR-80

Joint Assembly

Straight Bar

Steel Leg

Bolt w/Washer (Short)

Spacer

Congratulations on your purchase of the Pearl DR-80 Drum Rack.
Please read this Instruction Manual carefully so that you can get the maximum 

performance from your DR-80 Drum Rack.

Bolt w/Washer (Short)



http: //www.pearldrum.com
Products and specifications are subject to change without notice.

Printed in China
-Oct 2020-

Assembling the DR-80
The square tubes are connected to each other at factory. They should be mounted on the legs as 
illustrated. Please use the hexagonal wrench for tightening the bolts.

Insert the top of leg into the leg bracket of the joint 
assembly and tighten the Bolt (S)/ M10x25. (Fig.1, 2) 

1: 

Insert the Top of Leg 
through spacer into the 
joint hole located 
underneath the Bar. (Fig.3)  

2: Screw in Bolt (S)/M10x25 
through washer into the top 
of leg. (Fig.4)  

3: You can adjust the angle of 
both of the bars with the 
bolts. 
When the angle is set, 
tighten the bolts again. 
(Fig.5)  

4: 

Fig.1 Fig.2

Fig.3 Fig.4 Fig.5

Bolt (S)

Washer

Steel Leg

Bolt (L)

Bolt (S)

Washer

Steel Leg

Spacer


